
  

MAY 2011 U/ID 1885/PZA 

Time : Three hours Maximum : 100 marks 

SECTION A — (5 × 8 = 40 marks) 

Answer any FIVE questions. 

All questions carry equal marks. 

1. Distinguish between Double entry and Single entry system. 

 JØøÓ¨ £vÄ •øÓ ©ØÖ® Cµmøh¨ £vÄ •øÓUPõÚ ÷ÁÖ£õkPÒ 

¯õøÁ? 

2. What are the objectives of providing depreciation? 

 ÷u´©õÚ® öPõk¨£uØPõÚ ÷|õUP[PÒ ¯õøÁ? 

3. Describe the merits and limitations of single entry system. 

 JØøÓ¨ £vÄ •øÓ°ß |ßø©PÒ, wø©PÒ TÖP. 

4. Distinguish between Hire purchase system and Instalment 

system. 

 ÁõhøP öPõÒ•uÀ ©ØÖ® uÁønU öPõÒ•u¾UPõÚ ÷ÁÖ£õkPÒ 

¯õøÁ? 

5. The following balance are extracted from the books of Mr. Mani. 

Prepare the Trial balance as on 31.3.2009. 

Particulars Amount 

 (Rs.) 

Capital 20,000 

Cash-in-hand 5,000 

Building 20,000 

Stock 3,000 

Sundry creditors 6,000 

Commission paid 700 

Rent and taxes 300 

Purchase 60,000 

Purchasing returns 750 

Furniture 1,000 
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Particulars Amount 

 (Rs.) 

Loan to Ameer 1,000 

Discount allowed 50 

Drawings 5,000 

Bills receivable 8,600 

Bad debts 350 

Machinery 6,000 

Sundry debtors 8,000 

Repairs 400 

Wages 1,700 

Insurance premium 300 

Sales 90,000 

Sales returns 400 

Carriage 200 

Telephone charges 250 

Salaries 600 

Discount earned 100 

Bank OD 4,300 

Reserve fund 900 

Motor car 5,200 

Bills payable 6,000 

 ¤ßÁ¸® C¸¨¦ {ø»U SÔ¨ø£ £¯ß£kzv v¸. ©o Gß£Áµx 

C¸¨¦ {ø»U SÔ¨ø£z u¯õº ö\´P. 

ÂÁµ® ©v¨¦ 

 (¹.) 

•uÀ 20,000 

øP°¸¨¦ öµõUP® 5,000 

Pmih® 20,000 

\µUSPÒ 3,000 

PhÜ¢÷uõº 6,000 

PÈÄ ö\¾zv¯x 700 

ÁõhøP²® Á›²® 300 

öPõÒ•uÀ 60,000 

ÂØ£øÚz v¸¨£® 750 

AøÓP»ß 1,000 
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ÂÁµ® ©v¨¦ 

 (¹.) 

A«º «x Phß 1,000 

uÒÐ£i öPõkzux 50 

Gk¨¦PÒ 5,000 

ö£ÖuØS›¯ ©õØÖa^mk 8,600 

ÁµõUPhß 350 

C¯¢vµ® 6,000 

£Ø£» PhÚõÎPÒ 8,000 

£Êx£õºzuÀ 400 

T¼ 1,700 

Põ¨¥mkz öuõøP 300 

ÂØ£øÚ 90,000 

ÂØ£øÚz v¸¨£® 400 

yUSU T¼ 200 

öuõø»÷£] Pmhn® 250 

\®£Í® 600 

uÒÐ£i ö£ØÓx 100 

Á[Q ÷©ÀÁøµ¨£ØÖ 4,300 

Põ¨¦ {v 900 

÷©õmhõº ÁõPÚ® 5,200 

ö\¾zxuØS›¯ ©õØÖa^mk 6,000 

6. Loyal Shoe Company opened a branch at Madras on 1.1.89. 

From the following particulars, prepare Madras Branch A/c for 

the years 1989 and 1990. 

 1989  1990 

 Rs.  Rs. 

Good sent to Madras Branch 15,000  45,000 

Cast sent to Branch for :    

  Rent 1,800  1,800 

  Salaries 3,000  5,000 

  Others 1,200  1,600 

Cash received from the branch 24,000  60,000 

Stock on 31st December 2,300  5,800 

Petty cash in hand on 31st December 40  30 



 U/ID 1885/PZA 4 

 1.1.89&À »õ¯À åý P®ö£Û QøÍ öuõh[Q¯x. RÌUPshÁØøÓU 

öPõsk ö\ßøÚ QøÍ PnUSPøÍ 1989 ©ØÖ® 1990&® BskUS 

u¯õº ö\´P. 

 1989  1990 

 ¹.  ¹. 

ö©mµõì QøÍUS AÝ¨£¨£mh ö£õ¸Ò 15,000  45,000 

QøÍUS AÝ¨£¨£mh :    

  öµõUP®  1,800  1,800 

  ÁõhøP 3,000  5,000 

  Cuµ ö\»ÄPÒ 1,200  1,600 

CÖva \µUQ¸¨¦ 2,300  5,000 

QøÍPÎß ‰»® ö£Ó¨£mh öµõUP® 24,000  60,000 

]À»øµ öµõUP® 40  30 

7. On 1st Jan. 2002 X and Y entered into a partnership and 

contributed Rs. 40,000 and Rs. 30,000 respectively. They share 

profits and losses in the ratio of 3 : 2. Y is to be allowed at 5% 

p.a. 5% of interest is to be a charged on drawings. Drawing the 

year X withdrew Rs. 6,000 and Y Rs. 12,000 interest being X 

Rs. 140 and Y Rs. 100 share of profits for 2002, X Rs. 5,490 and 

Y Rs. 3,960. 

 Prepare Capital a/c when (a) they are fluctuating (b) they are 

fixed. 

 áÚÁ› 1, 2002 AßÖ X ©ØÖ® Y Tmhõsø© {ÖÁÚzvÀ £[S 

öPõsk ¹. 40,000 ©ØÖ® ¹. 30,000 •uÀ öPõshÚº. AÁºPÎß 

C»õ£ |mh £[S ÂQu® 3 : 2. Y \®£Í® ¹. 8,000. •uÀ «uõÚ  

Ámi 5%. Gk¨¦ «uõÚ Ámi 5%. 

 |h¨£õsiÀ X Gkzu öµõUP® ¹. 6,000 ©ØÖ® Y ¹. 12,000. 

AuØPõÚ Ámi X ¹. 140 ©ØÖ® Y ¹. 100 C»õ£ £[S 2002,  

X ¹. 5,940 ©ØÖ® Y ¹. 3,960. 

 (A) ©õÖ{ø»U P/S (B) {ø»¯õÚ •uÀ P/S u¯õ›UP. 
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8. A, B and C share profits and losses in proportions of 1/2, 1/4 and 

1/4. On the date of dissolutions their Balance Sheet stood as 

follows : 

Liabilities Rs. Assets Rs. 

Creditors 14,000 Sundry assets 40,000 

Capitals :    

  A 10,000    

  B  10,000    

  C  6,000 26,000   

 40,000  40,000 

 The assets realized as follows : 

 Ist instalment – Rs. 14,000 

 IInd instalment – Rs. 10,000 

 IIIrd instalment – Rs. 10,000 

 Show how the proceeds should be distributed. 

 A, B ©ØÖ® C ‰Á¸® C»õ£zøu 1/2, 1/4 ©ØÖ® 1/4 GßÓ 

Ai¨£øh°À £Qº¢uÚº. {Ö©U Pø»¨¤ß ÷£õx C¸¨¦ {ø»U 

SÔ¨¦ ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

PhÜ¢÷uõº 14,000 £Ø£» ö\õzxPÒ 40,000 

•uÀ :    

  A 10,000    

  B  10,000    

  C  6,000 26,000   

 40,000  40,000 

 ö\õzxPÒ ÂØP¨£mh ÂÁµ® ¤ßÁ¸©õÖ : 

 •uÀ uÁøn ¹. 14,000, CµshõÁx uÁøn ¹. 10,000, ‰ßÓõÁx 

uÁøn ¹. 10,000. ÂØ£øÚ GÆÁõÖ £Qº¢uÎUP¨£mhx Gß£øu 

Põs¤. 
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SECTION B — (3 × 20 = 60 marks) 

Answer any THREE questions. 

All questions carry equal marks. 

9. Ravi and Raja were partners sharing profit and losses as 60% to 

Ravi and 40% to Raja. Their Balance Sheet as at 1st Jan. 2007 

stood as under : 

Balance Sheet of M/s. Ravi and Raja as at 1st Jan. 2007 

Liabilities Amount 

(Rs.) 

Assets Amount 

(Rs.) 

Sundry creditors 48,000 Cash-in-hand 2,000 

Bills payable 17,000 Sundry debtors 28,000 

Capital a/cs :  Stock 20,000 

  Ravi   45,000  Plant and machinery 40,000 

  Raja 40,000 85,000 Land and building 60,000 

 1,50,000  1,50,000 

 The partners agreed to admit Ramu in the firm subject to 

revaluation of the following items : 

 (a) Stock was to be reduced by Rs. 2,000. 

 (b) Land and buildings were to be valued at Rs. 80,000. 

 (c) A provision of 2
2
1 % was to be created for doubtful debts. 

 (d) A liability of Rs. 1,300, for outstanding expenses had been 

omitted to be recorded in the books. 

  Give journal entries and prepare Revaluation a/c. 

 µÂ ©ØÖ® µõáõ C¸Á¸® TmhõÎPÍõÁõº. AvÀ Á¸® C»õ£® 

©ØÖ® |mhzøu 60% µÂ²® ©ØÖ® 40% µõáõÄ® ¤›zx C¸¨¦ 

{ø»U SÔ¨¦ PõsP : 

ö£õÖ¨¦PÒ ©v¨¦ 

(¹.) 

ö\õzxPÒ ©v¨¦ 

(¹.) 

PhÜ¢÷uõº 48,000 öµõUP øP°¸¨¦ 2,000 

ö\¾zxuØS›¯ ©õØÖa^mk 17,000 PhÚõÎPÒ 28,000 

•uÀ PnUSPÒ :  \µUQ¸¨¦ 20,000 

  µÂ  45,000  ö£õÔPÒ 40,000 

  µõáõ 40,000 85,000 {»® ©ØÖ® Pmih® 60,000 

 1,50,000  1,50,000 
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 TmhõÎPÎß J¨¦uÀ£i µõ• Gß£Áº ¦vuõP ÷\ºUP¨£mhõº.  

©Ö©v¨¥k ö\´uøÁ RÌÁ¸©õÖ : 

 (A) SøÓUP¨£mh \µUQ¸¨¦ ¹. 2,000. 

 (B) {»® ©ØÖ® Pmihzvß ©v¨¦ ¹. 80,000. 

 (C) Áõµõ I¯UPhß JxUS 2
2
1 %. 

 (D) ö£õÖ¨¦PÎÀ ¹. 1,300 öPõk£h ÷Ási¯ ö\»ÄPÒ 

Âk£mhx. 

   SÔ¨÷£k ©ØÖ® ©Ö©v¨¥mk PnUøPz u¯õº ö\´P. 

10. A, B, C were in partnership and towards the end of 2006. Most of 

the books and records were destroyed in a fire. The Balance 

Sheet as on 31st Dec. 2005 was as follow : 

Liabilities Rs. Assets Rs. 

Creditors 5,500 Cash 2,400 

Capital :  Debtors 3,600 

  A 4,500  Stock 6,500 

  B  3,000  Machinery 1,440 

  C  1,500 9,000 Fixtures and fittings 600 

Current A/c :  Advance payments 35 

  A  145  Current a/c 170 

  B  100 245   

 14,745  14,745 

 The partners drawing during 2006 to A Rs. 1,400, B Rs. 1,000 

and C Rs. 650. On 3.12.06 the cash was Rs. 3,200. Debtors  

Rs. 4,025, Stock Rs. 5,900. Advance payment of Rs. 25 and 

creditors Rs. 6,040, machinery is to be depreciated by 10% p.a. 

and fixtures 7
2
1 %, 5% interest is to be allowed on capital.  

The partners share profits in the proportion of 1/2, 1/3, 1/6. 

 You are required to prepare a statement showing the net  

trading profit for the year 2006, and the division of the same 

between the partner’s together with the Balance Sheet as  

on 31.12.2006. 
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 A, B, C  TmhõÎPÎß Tmhõsø© {ÖÁÚzvß 2006&® Bsk 

CÖv°À AÁºPÎß HkPÒ ©ØÖ® £vÄPÒ •øÓ¯õP CÀø». 

AÁºPÎß 31.12.05 C¸¨¦ {ø»U SÔ¨¦ ¤ßÁ¸ÁÚ : 

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

PhÜ¢÷uõº 5,500 öµõUP® 2,400 

•uÀ :  PhÚõÎPÒ 3,600 

  A 4,500  \µUQ¸¨¦ 6,500 

  B  3,000  C¯¢vµ® 1,440 

  C  1,500 9,000 ö£õÔ²® ö£õÔP»Ý® 600 

|h¨¦U P/S :  •ßTmi ö\¾zv¯x 35 

  A  145  |h¨¦U P/S 170 

  B  100 245   

 14,745  14,745 

 TmhõÎPÎß Gk¨¦ 2006 A ¹. 1,400, B ¹. 1,000, C ¹. 650. 

31.12.06 öµõUP® ¹. 3,200, PhÚõÎPÒ ¹. 4,025, \µUQ¸¨¦ ¹. 5,900, 

•ßTmi ö\¾zv¯x ¹. 25 ©ØÖ® PhÜ¢÷uõº ¹. 6,040. C¯¢vµzvß 

«uõÚ ÷u´©õÚ® 10% ©ØÖ® ö£õÔP»ß ÷u´©õÚ® 7
2
1 % ©ØÖ® 

•uÀ «uõÚ Ámi 5%, TmhõÎPÎß C»õ£ £[S ÂQu®  

1/2, 1/3, 1/6. 

 2006&B® BsiØPõÚ {Pµ C»õ£ P/S u¯õ›UP. ÷©¾® CÁØøÓ 

TmhõÎPÎøh÷¯ ¤›zxU Põs£uØPõÚ PnUøP²® u¯õº ö\´P. 

11. Vijay of Trichy has a branch at Perambalur are sent by Head 

Office at invoice price which is at the profit of 20% on cost price. 

All expenses of the branch are paid by Head office. From the 

following particulars prepare Branch a/c in the Head office books 

showing goods at invoice price. 

 Rs. 

Opening balances :  

  Stock at invoice price 11,000 

  Debtors 1,700 

  Petty cash 100 

  Goods sent to branch at invoice price 20,000 
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 Rs. 

Expenses paid by Head office :  

  Rent 600 

  Wages 200 

  Salary 900 

Remittance made to Head Office :  

  Cash sales  2,650 

  Cash collected from debtors 21,000 

  Goods returned by branch at invoice price 400 

Final accounts :  

  Balances at the end stock at invoice price 13,000 

  Debtors 2,000 

  Petty 25 

 Âá´ AÁºPÒ ö£µ®£¿›À J¸ QøÍ A¾Á»P® öuõh[SQÓõº. 

AuØPõÚ ö£õ¸mPÎß C»õ£® 20% AhUP Âø»°À 

Tmh¨£kQÓx. AuØPõÚ AøÚzx ö\»ÄPøÍ²® uø»ø© 

ö\¯»P÷© HØÖU öPõÒQÓx. AuØPõÚ QøÍU PnUSPÒ ©ØÖ® 

uø»ø© A¾Á»P £v÷ÁmiÀ Chõ¨¦ Âø»ø¯U PõsP. 

 ¹. 

Chõ¨¦ Âø»°À QøÍUS AÝ¨£¨£mh ö£õ¸Ò 11,000 

PhÚõÎPÒ 1,700 

]À»øµ öµõUP® 100 

QøÍUS ÂØ£øÚ Âø» ö£õ¸mPÒ AÝ¨£¨£mhx 20,000 

uø»ø© A¾Á»P® ö\¾zv¯ ö\»Ä :  

  ÁõhøP 600 

  T¼ 200 

  \®£Í® 900 

uø»ø© A¾Á»Pzvh® «sk® J¨£øhUP¨£mhx :  

  öµõUP ÂØ£øÚ 2,650 

  PhÚõÎ°h® ö£ØÓ öuõøP 21,000 

  QøÍUS v¸¨¤ AÝ¨£¨£mh ö£õ¸mPÎß Chõ¨¦ Âø» 400 

CÖvU PnUS :  

  \µUQ¸¨¤ß Chõ¨¦ Âø» 13,000 

  PhÚõÎPÒ 2,000 

  ]À»øµ öµõUP® 25 
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12. Amala purchased a lorry for Rs. 56,000 payment to be made  

Rs. 15,000 down three instalments Rs. 15,000 each at the end of 

each year. Rate of interest is charged at 5% p.a. Buyer 

depreciates assets at 10% p.a. on written down value method. 

 Because of financial difficulties, Amala, after having paid down 

payment and first instalment to the end of 1st year, could not 

pay second instalment and seller took possession of the lorry. 

Seller after spending Rs. 350 on repairs of the asset, sold it away 

for Rs. 30,110. 

 Show the ledger accounts in the books of both parties. 

 A©»õ Gß£Áº ¹. 56,000 ©v¨¦ÒÍ »õ› Áõ[QÚõº. AÁº 

JÆöÁõ¸ Bsk CÖv°¾® ¹. 15,000 ö\¾zxÁuõP J¨¦U 

öPõshõº. CuØPõÚ Ámi ÂQu® J¸ Á¸hzvØS 5%. ÁõPÚzvß 

÷u´©õÚ® J¸ Á¸hzvØPõÚ SøÓ¢u ö\À ©v¨¦ •øÓ°À 10% 

BS®. 

 {v £ØÓõUSøÓ°ß Põµn©õP Cµshõ® uÁøn •øÓ ö\¾zuz 

uÁÔ¯uõÀ ÂØ£øÚ¯õÍº A¢u ÁõPÚzøu ChÁø©zxU 

öPõshõº. ¤ÓS ¹. 350 ö\¾zv, A¢u ÁõPÚzøu £Êx£õºzx ¤ÓS 

¹. 30,110&US ÂØ£øÚ ö\´uõº. 

 Cµsk |£ºPÎß ÷£÷µmkU PnUøPz u¯õº ö\´P. 

13. The following was the Balance Sheet of John and Pradeep who 

sharing profit and losses in the ratio 3 : 2. 

Balance Sheet as 31.12.2004 

Liabilities Rs. Assets Rs. 

Creditors 76,000 Bank 23,000 

Pradeep’s loan 30,000 Stock 12,000 

John’s loan 20,000 Debtor’s  40,000  

Reserve fund 10,000 Less : Provision 2,000 38,000 

John’s capital 20,000 Furniture 8,000 

Pradeep’s capital 16,000 Machinery 56,000 

  Investments 20,000 

  P and L a/c 15,000 

 1,72,000  1,72,000 
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 The firm was dissolved on 31.12.2004. 

 (a) John took over investments valued at Rs. 16,000 and 

agreed to pay off the loan to Mr. Sahar. 

 (b) The assets realised the following : 

  Stock Rs. 10,000, Debtors Rs. 27,000, Furniture Rs. 9,000, 

Machinery Rs. 50,000. Goodwill Rs. 12,000. 

 (c) Creditors paid 2
2
1 % less. 

 (d) Realisation expenses amounted to Rs. 2,200. 

   Show the Realisation a/c, Partner’s capital a/c, Bank a/c. 

 áõß ©ØÖ® ¤µw¨ AÁºPÎß C»õ£ |mh¨ £[S ÂQu® 3 : 2. 

C¸¨¦ {ø»U SÔ¨¦ ¤ßÁ¸ÁÚ 31.12.2004. 

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

PhÜ¢÷uõº 76,000 Á[Q 23,000 

¤µw¨ Phß 30,000 \µUQ¸¨¦ 12,000 

áõß Phß 20,000 PhÚõÎPÒ 40,000  

ö£õxU Põ¨¦ 10,000 (–) JxUS 2,000 38,000 

áõß •uÀ 20,000 AøÓP»ß 8,000 

¤µw¨ •uÀ 16,000 C¯¢vµ® 56,000 

  ‰»uÚ® 20,000 

  C»õ£ |mhU P/S 15,000 

 1,72,000  1,72,000 

 {ÖÁÚ® Â»PÀ 31.12.04. 

 (A) áõß •u½k ¹. 16,000 GkzxU öPõsk v¸. \õPº AÁºPÎß 

PhøÚ wº¨£uõP J¨¦U öPõshõº. 

 (B) ö\õzxPÎß ©v¨¦ ¤ßÁ¸ÁÚ : 

  \µUS ¹. 1,000, PhÚõÎPÒ ¹. 27,000, AøÓP»ß ¹. 9,000, 

C¯¢vµ® ¹. 50,000, |Øö£¯º ¹. 12,000. 

 (C) PhÜ¢÷uõº ö\¾zv¯x 2
2
1 %. 

 (D) ÂØ£øÚ ö\»Ä ¹. 2,200. 

  ©Ö©v¨¦U P/S, TmhõÎPÎß •uÀ P/S, Á[QU 

PnUSPøÍz u¯õ›UP. 

——————— 


